Slope Reference Sheet

Positive Negative

the line decreases
from left to right

the line increases
from left to right

ero

r
v

the line is horizontal

Undefined

the line is vertical

Steps
O Mark 2 points on the line that cross on a

whole number coordinate on the grid.
rise

® Find the slope using: m = on

Rise = vertical change (up or down) "‘T 1'

Run = horizontal change (right or Ief’r)—+>
4—

Examples:
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0 !dentify the pattern in the table for both
the x and y variable.

® Use the pattern in the table write the
dope: m = changeiny
pe: change in x

Example
. . +

@ changeiny: /\2 4;\2 +2

changein x: +2 7N 7N 7N
8 4 | 2

Asiope: m=—
2 612 (2]|-6
m=-2¢ ° / v
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Steps
O Label the coordinates as (x;, y,) and (X,, Y,).

@® Substitute the coordinates into the slope
formula:
m=Yy,~V,

X=X

O Evaluate and simplify.

Example
0 (3,-4) and (-5, 8)
X Y, Xy Y

2

_8-(-4)
(2] m=——7
(3 _ 12
m—g °
5 )3
- ©
m—? o

each axis).

® Write the slope including units.

a “for every” or “per” statement.

Steps
O Frind the slope of the line using the graph (make sure to pay close attention to the scale on

® Reduce the slope if needed and use the units attached to each value of the slope to write

Time (weeks)

Draining the Kiddie Pool o m=- -8 reduce m=_4
100 1 2 1
= o N ° _ —4 gallons units on y-axis
5 N 1 minute - -
= -8 units on x-axis
S a4 L 4 >
2 ) ~N
% 76 O The poolis draining water at a rate of 4
3 gallons per minute.
> 68 OR
= For every minute the pool is draining, the
0 o2z 3 48 water level decreases by 4 gallons.
Time (minutes)
Pumpkin Harvesfing _ +60 _ 6
100 0,/ 0 M=135 reduce m=y
g 80 1 I/ : ; units on y-axis
3 / @ m= 6 pumpkins picked Y
8 4o +60 1 week(s) : :
£ units on x-axis
2ol @ Th kins picked K
5 i ere are 6 pumpkins picked per week.
4 OR
0 5 10 15 20 25 For every week of harvesting, 6 pumpkins

are picked.
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Slope Reference Sheet

Slope

the rate of change of any two points on a line (measure of how steep a line is)

the variable “m” is used to label slope

Positive

the line increases
from left to right

Negative Lero

A
v

the line decreases
from left to right

the line is horizontal

Undefined

the line is vertical

Slope from a Graph

Steps Examples:
O Mark 2 points on the line that cross on a /
whole number coordinate on the grid. rise l v
: m=— 2
: .. _rise run —»
® Find the slope using: m = on T3
_2 -6 ~54<572~1-' tzaas%i
Rise = vertical change (up or down) "'T l' m= 3 h
Run = horizontal change (right or Ief’r)—+> §
—
) rise +4 :
run i m = rU_n—V 1 3
:‘rise 6 +6 ]
Va,54‘31\123456 =9 4 5 § 4 2 1 12 3 4 5 ¢
fise m 4 / “
q : reduce 4
o run _ 3 / ;
X m = E q
Slope from a Table
Steps Example
O |dentify the pattern in the table for both | @ changeiny: -4 ’;\2 J;\Q t\2
the x and y variable. change in x: +2 71N 7N 7N
B X 4| 2
® Use the pattern in the table write the @slope: m =~ s |y | 6 2| -4
dope: m = Shange iny _ )8 AN VARANY /
Pe: change in x m=-2 4 -4 -4
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Slope from Two Points

Steps

O Label the coordinates as (x;, y,) and (X,, Y,).

@® Substitute the coordinates into the slope
formula:
m=Yy,~V,
W

O Evaluate and simplify.

Example
0 (3,-4) and (-5, 8)
X Y, X2 Y,

_ 8- (-4)

0 m=-——
(3] m = % .
=201

Interpreting Slope from a Graph

Steps
O Find the slope of the line using the graph (make sure to pay close attention to the scale on

each axis).

® Write the slope including units.

® Reduce the slope if needed and use the units attached to each value of the slope to write

a “for every” or “per” statement.

Draining the Kiddie Pool
100 4
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Volume (gallons)

o~
(]

0 1 2 3 4 5
Time (minutes)

0 m:_2—8—> reduc:e—»m:_]—4

-4 gqllons/

° \
T minute (nifs on x-axis |

O The poolis draining water at a rate of 4
gallons per minute.

OR

For every minute the pool is draining, the
water level decreases by 4 gallons.

Pumpkin Harvesfing

100
A4 '/
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3 80 7
o

2 49 +60

£

% 4
g 40 /
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e 20
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5 10 15 20 5
Time (weeks)

_ +60 %
0 m=_75 —>reduce—> m=7
@ m - &pumpkins picked _w (units on y-axis]

1 week(s) “(Units on x-axis ]

©® There are 6 pumpkins picked per week.
OR

For every week of harvesting, 6 pumpkins
are picked.
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